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Thinking about N mbers as Tens and Ones

PMary had 152 stamps. She tried arranging them in different ways.

Shethought.of 152 as:

I

7-1

Then she thought of 152 as:
PR

She wrote 1 hundred 5. tens 2 ciffes.
1

0 FIDR:-1.

PHI: H- --1 P111 n
R-z.

1-71H1 --- --..! LI

H,T4i-ll,P+12'..L

She wrote 15 tens 2 oneks.
.

Think of numbers as tens and ones:

Remember: 1 hundred = 10-tens.

186

200

345

727

504

317

4994

= tens ones. 782 =

= tens ones 420 =

= tens ones. .700 =
1

= tens ones 129"=

= tens _ones 870 =

= tens ones 603 =.

= ten - ones 890 =

235

tens ones

.

tens - 'ones

. tens ones

tens ones

tens ones

tens' ones

1 _tens ones,



Adding a Multiple of Ten

5 45 a

0

30

58 + 10 =

19 + 40

47 50,

66 +30

25 70 =

55 + 30 =

26 + 60

65 + 30

55+ 30 =

4

,45
5 45

140
85

63 26 '32-
+30 +20 :1-50

35 35' , 22
+20 +40 :4.70-

. /
31

. i3 78
+40 .. +40 +20

--,-

47 52 6.5

+30 +40 +30 "
-.

47 8.5 43
+10 .+10 )-50

68, 74 62
+30 +20 +30

46
+4D

24
+70

57
4.30

236 .



Subtracting a Multiple of Ten

95 C 95 955 95
-10 -20 -30 40. ". -50 :60-5 45 -35

88'
-30

36
20

47
20

77 49
-10 307
85'. 63.

-40 -10

95 59
-20 -50

56 `7-,V 67g

10 -70 -20;

83
60

98
-170

62

97
40

86 c--
60

81

5.3

74
-50

58
=50 -60 -30

_ 53 30

48 10

59 40 =.

46 30

57 10 =

40 20

85 10

96 20

75 10

22 20



Adding a Multiple of len

237 237 237
+10 + 50

23 ,7 . 267

237
+40

Add 10 to each number. Write the sum.

237 556 738 674

Add 20 to each number. Write the sum.

2 656 324 14E1 437

Add 40 to each number. Writethe sum.

320 .730 130 450

Adding 10

137 + 10 =

103 + 10 =

143 + 10 =

238

114

A dtfffig 20

137 +.20 =

103 + 20 =

735 + 20



'Adding Ones, Tells,' or Hundreds

141_ 147 147
+2 + 20 + 200
119 137 3.47r

Add the numberanamed at the,tont each column to the nurrer named

in the tett-band column. Write each sum.

*Add 6 Add 60 Add 600

320

111

332

432

. Add 2 Add 20 Add 200

147

403.

637,

713

ti

239



Subtriding aJAultiple of Ten or a Hundred

- 830
-20

523 T523
1.)3 /00

3-2T

690
-80

564 759
130 -40

738
30

157
30

482
50

691
-300

572
_40

286
40

389
300

273
-100

,965 376-
-;400 70

520:- 200

820 300 =

754- 30 =

938 -,2

630 400

750 200

310 100 =

270 - 40 =

590 -200 -7

240

13



Adding and Subtracting Ones, Tens, Hundrecls,and Thousands.

Complete each equation:
4

3+ 4 = 2+ 6

30 + -40 = 20 60

300. + 400 = 200 + .600 =

3000 + 4000 1 .2000 + 1000 =

'4+ 5=

A

3+ 5 =

40 50= 30 + 50 =

400 + 500 =, 300 + 500.=

4000 + 5000 = 3000 + 5000 =

9 5= 7- 3=
90- 50= 70 30

900 500 = 700 300 =

9000 5000 = 7000 3000 =,

8- 3 8- 6=
80 30 80 60 =

800 .300 = 800 600 =

8000 3.000 = 8000 6000 =

241



Diffe Fences of One, Ten, or One Hundred.

Show the difference between the numbers:

36 and 46 100

28 29

7 a Rd 17k

92 a n 82

47\`an4 57-

100 10

100

100 10

100 10

145 and 135 100 10

875 "and 775
,,

100 10

987 and 986 100 10

776 and 766' 100 10 .

5-8 and 68 100 10 -1.

.340 and 440 100 tr. 10 1

209 and 210 100 10 1

487 and 477 100 10- 1

509 and:609 100 10 1

oole
301 and.-311 . 100 10 1

242



Adding and Subtracting Multiples of anka Hundred,

Use Xter >. (greater than), or < (less than) in each box,

to make the sentence true.

40 + 50

159 40

tk,

100 900 100
.10

200 , 85 70

33 + 0 3,F1 100

99 + 97

18 + 30 4

556 +1400

200

50

25 * 70' 100

400

500

1000

;299 200

421 +,80

6001 500

556 + 400 900

59 40

46 20

78 30

156

790 80

44 30

59 -40

665 60

432 50

243

20

50

ioo

700.

ro

20'

600

400



Patterns _

Find the pattern

1) 2, 4, 6, 4,4.10, \2,
What is the pattelcn?'

16; 0

25, 22, 19, 16,-,-/3, -10,

what is the pattern.?

3) -70, 63, 56, 49, 42; c35, 28, 21 14,, 7,

What"' is the pattern ?
AIL

4) 9, 18, 27, 36, 45, 54; 637 72, 81f, .90

What is the pattern?

5).

6)

1, 2, 4, 5, 7, 8, 10,

t is the pattern ?
11, 13,

2; 9, 7, 14j, 12, 19, 17, 24,

What is the pattern?

-of

14, 16, 17

22, 19,' 27

rr

7) 10, 8, 13, -11, 16, 14

'What is the patte.rn?

8) 79, 83; 76, 80, 63, 67, 60, 64, 57
What is the pattern?

3

244



J

More about, Patterns
),

Each list of numbers below has a pattern.
, ,

Can you Jell what it

Jill in the., blanks using this pattern,

- 0), '230, 250, 270,

tr

Whit is the pattern?

(b) 67,':57, 1117 , 37

-4 What is the pattern?

(C) 606, .636, 666, ,

What is the patiern?

(d) 909, 850,. 800, 750,

What is tie pittern ?

(f)

253, 353 45),
( ,to

What iS hp pattern ?

347, 447, 547,

W4V- is the pattern?

.(h) 993, 963,. 933,

hat is he, pattern ?

782, 762, 742,

-(4 What is the patterrt?
I 1 e

245



Addition: Renaming Ten
ta

the form whicK is best toriou:.

es as One Ten

139 + -2t

4i r

. ,

45 +.`8 =
t

66 N2.9 =

'Mk

37 + 26 =

42 + 49 =

sf

+

J

38 + 27 =

4

35 + 47 =

r

7

19 + 21 =

246

J9



t1:41-actioh: ROaMing One Ten as Ten Ones 4

Use the form that is best for you.

47 -=
-r. 35

73 44:- 17 = 86 -79

61 34 = 87 29 = 38 19 =

247



Using Doing and Undoing
4

Q

Check these,exainplest

46
r.

+27

73

38

51
97

27

+Y4

81

66

+ 29

95

'54

+3/8

92

46

'+24

80

28

+43

248

2I



Using Doing and Undoing-.

Check-these examples.,10.

.42

17,

25

7 4'

-38

36

57

29

28

o.

96

59

37

- 26

69

93

65

65

-28

37

41

27

14

77

28

49

249

22



Using Doing and Undoing

Use the form whiCh4s- best for you. Check your answers.

79 + 86 = 61 + 89 =

95 -F 37 = 86 + 87 54 + 65 =

46 + 95 75 = 32 + 7 9 =

250

23



Using DOiigi -and Undoing

Use the form which is best for you. Check your answers.

.n

284 +. 395= 364 + 275 = 582 + 377

473 + 435 = 650 250 = 625 + 284 =

360 + 279 = 234 +592 = 767 + 142 =

44

251



Using Doing and Undoing

Compute. Check your answers.

L

2%8 194 = 309 135 537) 283

739 826 472 905 653 =

849 295 737- 5.84r=

ti

o

606 274 =

252
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Using Doing and Undoing

-Compute; Chect yout. an swers;

4:3

-482 .158 t.

-25 -93,

1

461 796

+38 238

237 709

-162 .+ 226

561

+ 328

492

233

-.A

253

.26



Using Doing and Undoing

Compute. Check your answers.

46

+99-

98

39'

178

83

561 ,

233 is

87

+ 38

573

+ 428

725):

392

635'

+219.

254



Computing the Sum of Three Numbers

3 + 6 + 5

2 + 9 + 6

5 .+ 6 + 4

=

=

=

7 5 6

2. -.3 5 .

8" 7 7

1

7

9

2

7

8

8

9*
2

4 5 7

9

4

3

9

3

8

4

8

5

9
.5

8 + 6 + 5 =

5 + 7 + 4 =

3 + 4 + 9 =

9 8

4 7

5 4.

6 4

3 3 t
5 9

9 1

8 8

2 9 _14.

7

5 6 4 7 3,

3

8

6

6

8

5

8

5

4

255

28



Using Basic Facts

4 + 3 =

14 + 3 =

24 + 3 =

34. + 3 =

7 + 8

17 + 8 =

27 + 8 =

37 + 8 =

'4 + 7
-14 + 7

44 + 7 =

34 +7 =

Find the sums

8 5

9 `9'

+8 7

6 9

5

7

6 + 9

'16 +' 9

56 + 9

36 + 9

4 + 8

=

=

2

12

52

22

8

+ 6

+ 6

6

+ 6

+ 8

=

=

=

=

14 -+ 8/= 48 + 8 =

44 + 8 = 28 +!8

24 4 8 = 68 + 8 =

5 +'9 = 3 + 9 =

25 + 9 ,= 23 + 9 =

15 + 63 + 9 =

35 + 9 = 13 + 9 =

8 5 9 7

8 7 7 7

9 6 9 7

9 7

8 9

256

29.



Using Basic Facts

5 + 7 -
25 + 7 =

15 +7

2 + 9 =

,12.+ 9 =

32 + 9

8 + 4 =

28 + 4

18 + 4

3 + 3

13 4. 5

33 + 5

6 + 7

46 + 7

16 + 7

5 +8

35 + 8

15 +*8'

= 6 + 8

= 36 + 8 =

= 16 + 8 =

4 + 5

= 14 + 5 =

= 24 +5 =

7 + 9 =

= 27 +9 =

= 17 + 9 =

Find the sums.

7

7 8

5 8

6

6

9

4b 257

8 9 5.

7 7 7

7 8 9

8 7

8 7 8

8 5 9



Reviewing Basicbacts

To the number named in the center, add each number named in the
second ring.

Write their sum in the outer. ring.

258



Computing the Sum of Three Numbers

If you have to use a longer form, write these examples on another paper.

36

21

32

45

24

30

. 16

72 .

11

45

12

32

84

10

26

43

43

12

73

5

5 30 44 21

4 51 66 34

63 26 10 21

22 12 23 44 jcy 4

25 13 67 35

42 64 12 13

32 22 20 41

73 12 24 61

15 54 22 23

11 32 33 12

259

a'
12



Computing the Sum of Three Numbers

86 A,

75

24

45

27

96

T9

15

65

-57

79

22

27 64 18 25

22 75 46 49

46 27 23 17

.

48 59 27 63

67 74 97 89

24 56 45 44

41 58- 78 86

79 99 58
e

56

98 78 88 66

O

33

260



Computing the Sum of Three Numbers

68

18

59

46 37 25

18 16 \ 88

69 99 fa

17

48

96

67

47

68

13

99

75

25 - 59

59 .98

89 87
..,

J /.56 45.
. - 29 98

- 89 79

84.

97

96

39 .

75

79

14.

99

40-

32

-99

88

sr
96

77

261 ,



Computing Sums

Find the sum of 497 and 353.

'400 + 90 +' 7,
44-)300 + 50 + 3

850

Use the

.

form which

497
+353

is best

497
353

for you.

.700 + 140 + 10 = 10
140,
700

850

850

- i

5..87 + 267 = 338' + 379 = 468 + 85 =

587 338 468
267 . 379

287 + 486 = 653 + 298 = 4447 + 379 =

287 653 447
486 298 179

.

526 + 298 = 37 + 78 = 383 + 598 = _
52.6 - 437 383
298 78

_ 598

262



Computing Sums

964 + 89 '=

964
89

178 .+ 785. =

178
785

457 + 388 =

457
388

169 765=

169
765

654 + 297

654.
297

586 + 378 =

586
378

264 + 579

264
579

736 + 197

736
197

263

36



Computing Sums

264 + 579 736 + 197 =-

654 + 297 = 586 + 278

964. + 89 178 785 =

457 + 388 = 169 + 765

264

37



Co4outi tiris

R43

+379
154

+767

316
+ 594

899
+ 21

245
t487

487
+397

568
+258

654
+279

265

38



Computing Sums

\ 266

39



Computing Sums

346
+4.75

. 1 .

347
+ 453

349
+499

.561 .

+299

.1

389
+148

344-
+297

,476 .

+224

4

267

4



(3) 747 + 679 =

(4) 635,,,t 779 =

(5) 235 + 898 --

(6) 999 + 341 -

(7).766 + 398

(8) 426 + 775 =

(9) 984 + 16 =

(10) 585 + 656 =

(11) + 287 =

(122 539 + 898 =

(:131 6-32 + 989

(14) 726.+ 787 -

(15) 31 697 =

(16) .834 + 476

(17) 347 + 63

(18) 234

(19) 564

(20) 298

(21) 325

(22) ,248

(23) 5 7 6

(24) 469

(25) 345

268

41

(26) 573

(27) 455

(28) 423

(29) 827

+ 277 =.

+ 236 =

+ 345 =

+ -297 =

+ 398 =

+ 297 =

+ 331 =

+ 87 =

+.555 =

+ 298 =

+ 173 7,1

(30) 769.+ 199 =



Order Relations

Use the symbol < (less than) or > (greater. than).

35 + 63 III ", 100

485 + 314 III 800-

500' + 600 5 1000

86 97 III 200

54 + 55

300 + '26.3 U. 500"

499 .4% 99, 600

. 5A +- 26 III 70

437 463 1000

.1-60 + 39 500

20.0 ± 341. 500

555 461 IIII 1000

3-7. 4. 67. 1111 100

291/+ 312 - 600

44 50 - 200

100

269 -

42



Computing Sums

6483
+1279.

3688
+2285

4479:
+5396

332.7
+6599

7248
+2476

1532
A: 6289

2448
+.469.

3446
+ 6377

3584
+ 4278

'270



Computing Sums

278 385
434 287
276 153

166 372
399

,
584

415. 21

343 666
167 118
472 75

446 639
337 128
144 193

6.00 r 392.
37 303

288 205

.74 259
496

155 225

456 247 483
125 198 257
397 457 169

578
65

265

271"

44
a



'A Cross -Number Puzzle

3$ 2s

-4.

7.

8.

10.

11.

13.

14.

16.

Across

17.

19.

23.

24..

25.

1.

2.

5.

6.

C

is 12 more than 70.Three hundred eighty-five

Another way to write
500 + 30 + 9

1 more 3 tens and
lo ones.'

8+ 8+ 8+2

(60 + 3) + 3 + 3

46 hundreds and 17 ones

31 10

9+ 9+ 9

630 600

/311ti,+ 500 +60

539= tens + 19 ones

Months in a year

26 -9

Down

34 tens

<
556 520

Largest number less than
1000.

272

45

4



Down

8. 2 tens and 6 ones

'1 9. 33 + 28

11.. Four thousand one hundred three

12. 4289, 5289, 6289,

13. 1 ten and 13 ones

15. 720 equals how many tens?

18, 3 fives

'120. 70 19

21. 5 tens and 12 ones

22. 7, 12, 17, 22,

273

46'



Computing Differences

435
263



Computing Differences

825
-376

, .

254
-189

p

.
.

334 513
167 286

.

. .

..-

622 324
-235 58

,

A

\
. . .

671
-298

.-t

,

,...

,

275

4



Computing Differences

651 287 653. 296

'427 269 = 514 395

821 367 = 336 278

745 479 = 534 298- =

276

49



a,

Using Renaming with Subtraction

1) 400 = 40 tens

400 = 39 tens 10 ones

400 = , +

2). 500 = tens

500 = tees 10 ones

500 =

3) 600 = tens

600 = tens 10 ones

600=

4) 700 = tens

700 = tens 10 ones

700 =

5) 800 .-

800=

800

6). 900 -

900"

900 =

tens

tens 10 ones

tens .

tens 10 :ones

.277.

400
-187

2 1 3

500
-132

600
249

700
2 9 7.

800
256

900
-776



Computing Differences

..600
-351

904

305 703
-265

900.

-321'
804

-4.75

702
-376

603
-247

278



Computing Differences

784
-292

3.04\

-291j.

386

801

-794

764
-198

368
-129

430
-109

800
-298

279

52



Order Relations

Write > or. < in the box.

400 -.299

70,0 304

500 201

200 98

3286 200

6457 387

684 80

Of) 267

700 302

z

400

300

'100

3000

6000

600

300

400

1000 506 U 500

ti

J.



Using Renaming with Subtraction

1) 7000 tens

7000 = tens 10 ones

7000 6990 + 10

2) 5000 = tens

5000 = tens 10 ones

5000 =

7000
- 2689

4311

5000
-1234

3) 2002 = tens ones 2002

2002 = tens 12 ones -.1679

2002 =

. 6008 = tens ones

6008 = tens 18 ones

6008 =

5) 4010 = tens ones

4010 = tens 10 ones

4010 =

90tP=

9075 =

.9075=

tens ones,.
tens 15 ones

6008
2659

4010,
-2605

9075

2066



Computing Differences

6400'
-2209

8008
-2439

7034
-14027

7041
-2039

6481
-2276

3980
-1777

al?



ompyting Differences

* r105
-j099

J

v.

A

. 8407
-2308.

.1827*
318

3605
-2176

A

3987
-1259

9002
.2345 43,

tF



Computing Differences

5721
-2598

9445
-6258

3268.

-1752

5816
-1749

44.

7814
-3675

07

8652
-5387

7624
-3378

3730
-2395



Computing Differences

6323
-1278

6401.
-2389

4727 8254
-3193 -2128

6845 7641
-2376 -2238

43-02 5728
-2164 -1219

.o
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1. Here is a road map.. The numbers on the roads show distances in miles.

Which is the shorter route from Bedford to York? Via Westport or over

the pass?

. .

2. Here is another road map.

FRANKLIN

What is the shortest route from Morris to Edgerton?

286
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3. What is.the shortest route from A to

How many rgAg5 are there from A to 'F? One:of them is

A BCF List all the others.

41ft

Did you Check all of these in order to find which one is shortest?

Here is a map of .a city with some nearby towns and the airport. The

numbers show how long it takes in minutes to drive from one place to

another:

12

18

25

What is the quiekest way to get from town A to the airport?

(

AIRPORT
23

287

1



Here is a chart showing the distances bycliredroacf.betweentowns

A, B, C, For example, the distance between'; A -an,

30 miles. No number was put in the A, 'D square because there is

no direct road from A to D. =

Find the shortest route from; A . o
.

Can you draw a map,topelfryOuy



Here is a more complicated map. There are 14 ways to get from A to
F. Can you find the shorlest way without looking at all 14 ways.

separately? The questions below will help you.

(1) How far is it from to C by the shortest route?

(2) How far is it from A to D by the shortest route? (Your

answbr to question 1 will help you.)

(3) How far is it from A to E by the shortest route? (Your

answers to question?s 1 and 2 Swill help,j/ou.)

(4) How fa; is it from. A to , F by the shortest route? (Your

answers to questions 1 and 3 will help you.)

289



-1E Subtraction by Complementation

In these problems we are going to play with equations a little bit and then,

using equations, we will find a new way to do subtraction.

Is this equation correct?

7 + 8 = 9 + 6

Now we add the same number to both sides:

7+ 8+4=9+ 6+4

Is the equation still correct?

12. Is this equation correct.?

12 + 7 = 10 + 9

Now we subtract the. same number from both sides:

12 = 10 + 9 8

Isthe equation still correct?

If you add the same number to both, sides of a correct equation,

the equation remains correct.

If you subtract the same number from both sides of a correct equation,

the equation remains correct..

290.



mr4

Let's check-these rules with some more examples. Do the arithmetic

on each side of the equation and put.the answer in the blank below.

8 3 ='15 4

Are the two sides the same? Now add 9 to both sides:

8+ 3+ 15 -4'1:9

Are the two sides still the same?'

Add 7 tb bOth sides:

12 + 16 13 + 15

Now try these:

12 16 + 13 + 7 15

Notice where we put the 7 on, the right side. Does it make any
ti

difference where we put it?

Now try these:

10 + 10 = 13 +7

Subtract 3 from both sides:.

10 + 10 = 13 \3 + 7

291
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45 62 = 100 + 7

Subtract 5 from both sides:

45 5 + 62 = 100 7 5.

137 18 =100 + 19

Subtract. 7100. trim both sides::,

.137 -,100 18 = 100. 100 + 19

));
op

Which of these equation are'correct? Use tit rOles you learned in

problems 1 and 2 above.

9 + 8'=17 .

8

14 + 9

+ 372=

+ 8 =

17 + 372

17 + 14

9 + 523 + 8 = 523 + 17

47 +.18 = 13 + 50

47+18 28 = 13 4- 50 28

55 25 + 30

55 + 100 100 = 25 30

292
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correct?
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correct?

correct?
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Fill in thestlanks:

0.+ =9

1+ =9

2.+ = 9

3+ =9

4+ =9

5+
6+

7 Q

8+

-9+

The numbers you have just written are called the nine's complements
of 1, 2, 3,,4 4, 5, 6, 7, 8,. '9. "Complement' is a word you will
be seeing in.mathematics. It means "the piece left over". We call

2 the nine's complement of 7 because 2 is the "piece" left over

after you subtract 7 from 9. The word "complement" is related to

the word "complete." It has nothing to do with "compliment".

What does compliment mean?

Do these subtractions:

9 99 999 9999
-7 -38 -506 -2914

If you know the nine's complements, subtracting numbers from 9

or 99-or 999, etc., is easy. 'Tell here how to do it:

A

293



9+ 999 + 1 =

9.9. +1 = 9999 + 1 =

Are these eqiiations correct'?

1000 478.= 999 + 1 478

1000 478 - 999-- 478 + 1

`Dathesai

999 328

-0999 -328

1000 -;328

1000 479

WOO: 165 =

10000000 4671023-

If you know the,snine s complements, subtraciing numbers from 10

or 100 or 1000,. etc.; 'is easy. Tell here how to do it.

10. Subtracting 10, 100, 1000, e c., from other numbers is easy, too.,

Do these:
184 100 =

1436- 1000 =

2048 1000 = .

294



11 Is this'equation correct;?

723 489 - 723 489 + 100D - 1000

Let's change tharcler of the terms on The right.

723 489 = 1000 489 + 723 1000 0

Is the equation still ect?

ow we will use this equation to help_Us -to do the subtraction

72 '48:9

Let's do the right side of the equation:

1000 489 =

1000 -: 489 + 723

1000' -:489 723'- 1000 =

Now do the subtraction the usual way.

723

489

Did you get the same answer?



12. 'Here are two ways to do this subtradion:

qly

New ay:

Old way:

1000 -4297 =

Add 523 to what you just got:
:J

Subtract 1000 from whIft you just got.
r

8-c

Did you get the same answer?

Do these subtractions:

Old way:

615

Add 615: 387

Subtract 1000:

1000 195 -= 263

Add 263: 195

Subtract 1000:

Explain why the new'waylivorks.
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Set 4
Solving Problems

44 4, 4.

Write'ar1/4equatio,n and an attsw4 sentence.

4'1

4

"S.During a lesson about Indian% Kevin le td that one chief

lived to be 94 years old. He thought tilat 19. 85 years he would=

be that old. 'What is Kevin'-s age row?

t.

kro

,.?

Julte'ffamily wenicion Oboat trip. ft-iey traveled '68 mileno an

island and 75r miles back4O'the harbor.4tjow many. miles did
A rtol

4hey travel durinwthe wholerip?
t

ct. sy

k A

A basketball was ori'sale foi' 790. Sane chilten Wanted to bu,A,,it.
!-

Th'ey had .95a. How m u c h_ money wou kV:they have left after

buying the bSil?

297



Mr. 'Ford has 32 pills in his medicine bottle. If he had

40 pills when he bought the medicine, how many pilB

has he used so far?

.7

Thdre were 95. boys on the playground. 47 of them were

playing on the equipment How many boys were doing some-

thing We?
S

Susan needs 97 cents to buy a doll. She has. 36 cents.

How much more,monedoes she need?

6.1

298
f.

9;
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Sets
Solving Problems

Write an equation and anbanswer sentence.

Jack's small turtle is 26 years old. His large turtle

is 65 years old. How much older is the large turtle?

Z. Saturday Mary went to visit her cousin. She went 289

miles on thetrain. She rode 3 miles frOm the Frain

station to. her cousin's house. How far did'Mary ride on

her way to her cousin's. house7:-

Lest year Mary went on a 675 -mile trip. 1-lo further
did she travel last year than she did on the trip tp her

cousin's house?

`



Mr. Smith had 573 bricks to make a walk. He had 28.

left when the walk was finished. How many bricks did

he use?

7

. -
s .4

Sally counted her steps to-school. She wenl 73 steps to

the corner and 28 more to the schOol yard. How many

steps did she take from her house to the school md?

51,



Set 6

,

Solving Pro4lerns

Write an equation and complete the answer' sentence for each problem:

During the annual Campfire
Girls' candy sale,. Mary's team
sold 232 boxes of mints. Sue's
team sold 472 boxes of mints.
Find the total number of boxes
sold by the teams of the two
girls.

They sold boxes.

John is 55 inches tall.
His father is 74 inches tall.
How many_kishes must John
grow to be as tall as his.
father?

2.. The pupisls.of Oak:SchoOl
collected gifts for dther
children at unristms. They
collectid..133 books' and 316
tckyS, ,How many gifts were:,
collected?

gifts were tollecte

SuehaS $254.,,toiuy a
bicycle. -3-Th:e laicyclecosts
$42. How .much` More money
must she.SaVe?

.]



A high shoot stadium has
700 seats. 462 tickets have
been sold -Ora game. VW)
manytickets ere lePt?

...ps.boeenbue:r7dsiunds.n/atzseciirmilw:feinutSIghshsch74tese

does the seat weigh Than The



Set- 7
Solving Prthlems

Write an equation and the answer sentence.

Miss Lane hes_ 200 erasers, She has 34 children in her

class. If she'iives rile eraser-beach child in her class,

how many en3sers does she still have?

2. The-third and fourth grades e going on a {'-held trip. 'There.

were 1.13 ,d\ildre.n in all: re were 57 chi ldren the
fotif+h grade classes. liow many chi lclren were in4fle ihind

yade ale ses

Mr. Williamson nee* 100 gallons oPpaintio pairt,his

motels 1-te has. 1 gallons. How many more gallons does

he need?



Michael has 750. Ile wanted to buy a book for 900. ,

How much more money does he need?

During the Wheeler family's first trip they wrote 47 post

cards. On their next trip they wrote 39 post cards. How

many post cards did they write on both trips?

There Were 23 apples in a basket. Eighteen of the

apples were eaten., How many apples were still left in

the basket?.

/1
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Set .8

Write an equation and complete the answer sentence.

There are 298 children in school. If 176 of them are girls,

hhi'many of them are boys?

There are . boys.

Nan has 13 dolls. Polly has 17 dolls. Beatrice has 9

dolls. How many dolls do the girls have?

The girls have dolls.

One day there were 98 boats on the river. The next day,

after a storm, there were only 37.' How many boats were missing

on the second day?

boats were missing.

Thirty-one children, were, invited to. Mary's birthday party.

Twenty-six came. How many children did not come?

children did not come.
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A museum had 372. pictures. Some were stolen. If 297

pictures were left, how rhany were stolen?

pictures were stolen.

In the library tiiere were 213 books. Some new books were

given to the library. Then the library had 300 books. How

'many books wee given to the library?

books were given to the library.

There were 230 anirnils in the aoo. e.hun-dred seventy-five

of' them were dangerous. How many of them were not?

animals were not dangeroui.

One hundred seventy-two rackets had been sent off. Then

111 more were sent off: How many meets were fired?

rockets were fired

79



-Solving Problems

wriie an equation'and an answer sentene.

.1. The corner drug store had 987 Dall-point pens in stock.

They Sold 14 of them. Now many do ttiey have now ? -

Mrs. FoSter had a lot with 540 peach trees. Shfe bought

another lot with 2.30 more peach trees: How many Peach

trees does she have now?
o

The Lincoln School has a total of 95/05. children. If 28

of them are in Mrs. Hoffs hovi many are in the

'rest of the school-?-



Claudia is collecting stamps. he hat.: 969, stamps in all'.

Of these, 702 are not' American stainps., How many of

them ar,e American stamps?

o.

Alfred is reading a book that has 234 pages. He has to

read another 41 pages before he finishes the book. How

many pages has he read?

Girl Scout Troop 66 sold. 596 boxes of cook i PP

sold only 339 boxes-. How many boxes did both of the

troopssell



The boys colleCted 436 pounds of paper for the schoOl

piper drive The girls collected .509 Pounds.' How Many

pousnds of paper didlhe boys and girls collect?

.
1:..

71:::,-'.; .
Johnftnt to the store with ,45, cents. He bouOht;a: balf

for 33 cents How much money did he have then? '

t.

Carlo! put 15 candles on Mother's cake. Mother laughed

and said,-, "Carol, you know I am forty-three years old! "

How ?rimy more pandles should be on Mother§ cake?



Solving Problems

Set 10

Use your own pape., Rrsf-; ,,writethenumper of the problem. Next-
,

write an ecivation. Last, triirite sentence voh is h tel Is the answer fa

-the problerri,

as

,.The 14 Brownies orMrs. Lake's grOup invitedthe 18 Brownies

of Mrs. VVebster's, group to go on a picnic with them. How many

Br&vnies would begoing to tie picnic. iFevery.one could, go?

2. Sixteen boys-from the Center School are in the Little League.

baseball team.. Twerdy--three toys -from ,the West School are
4 `2.tubers. How many more boys from the West SchOof ban -the.

Center School ere members oF the Little Leaguel---'

,..

If s
,
535 cartons of milk weritboUgirf by the school lunchroom

on Mbnclay, and 458 ' cartons, were bought onTuescia9, how

many were bought both days?

1
v. If 415. crf these carto s.werO'chocolate milk, how many were

recjular milk?,

earbara has feciipn 'of: bi.itton penny brings her csoillectiort

180 buttonS wer S a e berg's house, jh e g count the bLittons
:

f4nd 321 'an together: 40h, " 'said Barbara; "I -F6

-Co count mine) licw'manY bixtboiiCiict Barbara have ?

.s.16

3

1'



.

Solving Problern

S'et 1

Airport.

Follow the dims.iions for Se

f.

)Paula and John vvent 1-&-lhe airport- with their paren-t. Paula

coaryted, 33 passerres enter the front ofa jet Sahn
sound 82 passengers eriteri rig at t+-)e back lifow many

passenserdict -they eot.44:?..

'0

el

One hundred severrty piecei 6.,1:agiiagevmere pi le:I on several

Aiucks. One of-these truc.lts pulled may
pacjajgcs,H2` HaiyAiny Wet-e cn4he ether trucksy

,41 '1

Paula and Sohn looked around'-on the observation plafferm and
4

counted 37 pecple includin3 teptelves. 1P le" pfth-e people
, .

were children, how navy tduli-s- were ihete?.

A jet lanclej and the pilot said he. had 432 more mites
I-f-the otal rtip he niakes r SOLI, iiii les, how -Ar had he

ai re* gone?

,311



Write youransivers to these questions.

Betty and Jim are at the Zoo. The zoo lefiper wanted'toweigh,

gorilla, but the baby gdrilla Would-hot stay on the scale. The zoo

keeper solved the prdblem by weighing the mother gorilla first. She

weighed 162 pounds. Then he weighed the mother gorilla holding

the baby gorilla inher arms, Together. they Weighed 190 Odunds.

How could the zoo keeper know what the baby gorilla's weight Was?

)1/4.

.11.,x, said he was go r.a to give his bag'of ,75 peanuts to the gorillas. If.

they ate 27, how '.ny were not eaten?,

s7,

.1

312
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Set 12

Solving Problems

Write an.equation and an answer sentence, for- each problem. ;.

1. Father had 22 tulip bulbs to plant. He found thal 6 ottiiem
were not good and he threw them away. He bought a doteNemore

tulip bulbs at a sale. How many bulbs did he have then?.

3,

,t

\
r a

a

Jim had 15 glass marbles and 13 Steel ina.rbles. Hecigave 12 t
of his marbles` to Sam. How many marble itsjd-J-likhave trherlY*

.
a

21

\

Sue had 11, pieces. ofslollhouse furnitbre and Jackie had 13 pieces

of doll furniture. While they were playing together thiy,-broke

of the chairs. How many pieces of dollsturniture did they havelhen?

313'



Mother baked 24 ..chocolate, cupcakes and 18 white cupcakes.

She sent 10 of the chocolate cupcakes to Grandmother:. How

many cupcakes does Mother have flow?

It)

Mr. Jones .delivered 22 quarts of milk to houses'

quarts of milk to:haUses in another block, and

houses in the thirdSlocK. How many quarts of m

to the houses thete three Noce?
,

77.

Fifteen airplanes were at the airport.

took off.and 6 airplanes

the airport then ?0.0.1=lr
A:

;.?

314
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Look`-at this of a curve.,

'' plike yot#:-str ing.a 1'04 the Cu rve,
,t".

Measure tye.partTof the ,string; you As

The length 71, . inches..

This is 0110 eiength of the curve::,

1141..have'Used a stiing.tOfind.th'e.lengthof a curve. .t
.
61,

1/4

at ttlist'pictur4;;of.4'Curve.

---Useyour string to rffeasure it.

The length of this curve is inches.

315
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How much less than 10 inches is it?

316

tr



Length

The seat of, a chair is 15 'inches from 'the floor. This is

inches more than afoot.

The length of the edgeof a desk is 22 inches. This is

inches less than 2 feet..

Henry's seat is 7 feet from the door, .wt irle Harold's is

3 yards from the door. Which one is farther from the' door?

How much farther? feet.

4. To'reach the drinking fountain Janetas to go 2 feet mor

than 4 yards.' How many feet is this?

Neil finds he is 14 feet from the chalkboard. Is.this more or

less than 6 yards?. s-

0

9

4



Length

In playing Pin the Tail on the Donkey, Judy places the tail 10 inches

from the correct spot. For Alice the distance is 4. inches less than

a foot. Who was.the winner?

Henry and James use a yardstick to find the height of ea room.

They find it is 2, feet more than 2 yards. Thei room is

feet h igh.

Qne space capsule was. 5jaet, 8 inches high inside when in flight.

The astronaut in his suit was' 6 feet 5 inches tall. Could the

astronaut stand up straight in,the capsule?

Why?

Amy's doll buggy is 3 feet, 5 Inches long. Jerry's truck has'a

cargo body 1 foot, 9 inthes lon'g. Will Amy's buggy fit the

cargo body of Jerrys truck? Why?

318



Perimeters

1. Find the perimeter.

319
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'Perimeters

2. We will find the perimeter ofthe polygon drawn below.

A

Mark a segment congruent to AB on the line below,

starting pt 0.

Next tot mark a congruent copy of R.

Make congruent copies of all the segments.

Call the last endpoint X.

Measure 0R.

The length of (TX' is inches.

The measure of OX is

the perimeter of the polygon is inches.

320
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Perimeters

3. This is a picture of a playground.

We want to "know how much fence is needed for thee playground.

That means we,want the

40 ft.

of the playgiound.

0 ft.

,t4

Below AB 'is a mark like this: 40 ft.

Does this mean that AB is 40 ft. long?

4

Writethe mathematical sentenceiwhichme haye to use.

The perimeter of the playground is'

The' length of fence needed is

7s;



4. The Jones family-decided to decorate the front of their home for

the Christmas season.

Johnny wanted to put'a string

the Irian* ABC.

colored_ lights on the house? along

..Mary wanted to put .a string of colored lights around the window.

,
Mr. Jones said he would buy light fOr.the window or the roof..

2,

Hp would not buy lights for both. He would decdrate the one Which

required the Shorter string of lights.

322



Johnny meapred the three sides of the triangle.

He added the numbers in his measurements:

He wrote equation.

Mary measured the.four Side's of the wind*.

She added the numbers in her measurements.

She wrote, the equation

.numbers were the same.

,+.7 3,+ 7 = 20.

WhatNother fact d9 Mr. Jones.' have to kndw?

Did the.Jones family decdrate the window or the roof?,
i



Review

1. This js a pictu-re of, a STOP sign. A thin black border is to be painted

around the (
10 in.

,STOP

'10 in.
/4

ow manyinches of border must be painted?

o /it

I
edge of the'sign.is a polygon.

imete lygon is

re of the. perimeter of the polygon is

U

t.

ruler to find to the nearest inch the pe,rimeter of the

'polygon below.

B

324,
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The perimeter of ABCDEF

is

C



Review

3. Use your r le'r to find to the nearest inch the perimilters of th

polygons beloW.

325

The perimeter of ABCI?

is

/The measure of ABCD
,

is

The perimeter of the star

is



,

Using Several Units for PeriineteL

Complete the tabre. Give another name for each` length,.
)

5

This i9 a picture of a triangle.

..We shall find its periMeter.-

5 ft. 5 in.

The equation.for the,nu be of feet is

The equatiorv'for the numb :r of in es is

TI-fp'etimeter is



Using Several Units for Perimeters

This is a picture of Tpolyjon.

at

How many sides does it have?

We shalrftnd its perimeter.

The equation for the number of feet is--

The equationfor the number of inches is

The perimefer is ~feet inches.

Is the length shown is. inches. more 4 a foot?

The length in inches is the same a feet inches.

4. The lengths of the three sides of .a trianglEare

4 yd. 2 ft 5 yd. 1 ft.,- and 3 yd. 2 ft.
,

Tti rerN eterin yards andlett is ,
1



Review

c

The four sides of a flower bed have lengths 21. ft. 4'

10 ft. 6 in., 21 fh 4 In., and 10 ft: 6

A fence is built arouhg it.'

Th.e length o0he fence is *
k Is the length shown in inches more than a foot.?

If it is, write the length in a differdnt way.

AO.

This is a picture of a yardstick. it is one inch wide.

Its perimeter in ,yards and inches is'

Its 'perimeter in feet and inche71s is



Thii is a picture of a polygon.-

It fpoks like steps.

o

3 ft. 0 in.

gr

Each step is' 6 inches high.

Each step is 9 in ,ryes wide. .

The perimeter of this polygon is'

4. This right be a picture of a launching pad for an interplanetary

missile.

55 ft.

55 ft:

What is the perimeter of the pad?

o

4-



Measuring with Fractional Units

1.

K
Take your ruler.

Measure each side of APQR in half inches.

Length of PQ is , half-inches.

Length of IATE3 is: half-inches.

Length of half-inches:

The perimeter of A pQR is half-inches.

330e
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Measuring with Factional Units

2.

Take your ruler.
N..

01

Measure each side of ARST in.quarter inches.
\ .

Length_ of RS is 'quarter-inches.

Length of ST is

Length of RT is

The perimeter of. p RST is

quarter-inches.

quarter-inches.

quarter-inches:

)

I

L.



The sides of a triangle are

12 ins. 1 haif-in.

13 ins. 0- half-in.

9 ins. 1 half-in.

The peTirneter

6 ins. .1 quarter-in.

y.

- 332
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Review

Measure the sides of L ABC with your ruler.

Show the results below.

Length of AB is ins. quarter-ins.

Length of BC is ins. quarter-inst,

J

Length of AC is ins. quarter-ins.
rk A

The perimeter of L ABC is ins. quarter-ins.

Do the quarter inches make more than an inch?

If so, write the perimeter in a different way.

in. quarter-in.

333



Revfew

2. Sally is giving a party.

'She wants to make a sash of ribbon.

It will take 27 ins. 3 qUarter-ins.

She also wants to make a bow of ribbon.

This willtake 15 ins. 3 quarter-ins.

She has 43 ins. of ribbon. Is this enough?

3. A rectangle has sides whose lengths are

3 ins. 1 half -in.,. 2 ins. 0 half-in.,
) -3 i s. 1 half-in., 2 ins. 0 half-in.

Is he perimeter as much as a foot?

The perimeter is

4. The'edges of the cover of your pupil' s bookiform a-rectangle.

The sides have lengths, to nearest half -inch:

(bottom) ins.; half-in.

(right side) ins., half-in.

(top) ins., half-in.

(left side) ins., half-in.

The perimeter is . ins., half-ins:

The perimeter is than 3 feet.

The perimeter is than 4' feet.
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Areas

Let the region bounded by QPQR be the unit region.

R

The regions in the drawing are congruent to region PQR.

Look at quadrilateral ABCD.

Ajt is the edge of °a region. -

Count the number of unit triangular region's in:region ABCD.

This area of the region is units..

The measure of the region is

335
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Areas

,

2. 'Let region 0PQRS be the unit region.

The regions in the drawing are congruent to region PQRS.

R

Look at at the simple-closed curve shown With heavy lines.

It is the edge of a region.

The area of this region is units.

The measure of this region is

336



Areas
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Area

\Look &the facing page.

54the units of length and area.,

Look at FectanWe ABCD.

It is the edge of a region called R

Tht length of AB is units.

R has \c unit regions in each

The length of AD is units.

R has rows of unit relgiOns.

Air-equation telling the number of square units in R is

The area of R is square units.

Look at rectangle PQRS.

It is the edge of a region called S.

The length of PQ is units.

Could you use the numbers describing P and Q to find this.?

The length of PS is units.

Could you use the numbers describing P. and S to find this?

S has unit regions in each row.

An equation telling the number of square units iri S; is
The area of. S is square units.
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Area
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,
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P
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Area

Look at the facing 'Page. .

sp. o'

ABCDEF is a dimple do

It is the edge of a 're?iOn alled R
The area of R is square units.

PQRSTUVW. is a simple closed curve.

It is the edge of-a region called S.

The area of S is square uns.

ft

3. HIJKLMNO is a simple c sed curve.

It iSr.the edge of a region alied T
,Jhe area of ,T is square units.c
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Area
a

-co

Look t the falifig page.

%.The'areiolloreg,ion 'ABCD
-

Join tIfelollowing points in order:

(6,5) (9, 5) (9, 7)" (6, 7) (6 5)

Call thp figure P-QRS.

1/4

-square bin-its.

-

The area of region PQRS is stivare unifk,.e

The area of region ABCD. which is outsidejegio

is square units.

Look at the facing page.

( 4

Join t4followitig p nts in order:

(9, 12), (9, 15), (7, 15), (7, 16), (9, 16), (9, 17), (6, 17),

(6,14), (8,14), (8,13), (6, 13) (6, 12), (9, 12).

What symbol does the resulting clAed figure look like?

What is d fithatof tharearea oa clOsegurely
.

square units.

.1 1

1
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15

14,
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Der.ubling Sides.fRectangles

1. Drag rectangle ABC( 1 if .the numbers desc Ming' the points are

`"., A(1, 2): B(4 1 ' Ct4 6). D(1,6).

) _J

`ttla It. Double these numbers to get points

sP( 1 Q( , ) R( ,)--., S( ,

t
Diaw rectangle PQRS. " ,

The perimeter of Al3CD is
,-

Units.

The perimeter of PQRS. is units.
.

,

The perimeter of PARS is times as large as

the pe meter of ABCD. / . .

Write theequation used to find the area of region ABCD.

Write the equation used toCfind the area. of region PQRS.

The area of region ABCD is

The area of region PQRS' is

square units.

square units.

The area of PQRS is 4, times as large as the area of ABCD.
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Doubling Sides of Rectaragl9s

1.

17

16

15.

14.

P13

12

11

10

8

A

4

3

2

1

0

5
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Tripling Sides of Rerii'avglel'

2.

47

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

0

A

.

D

Q

6 1 2 3 4 5 15- 7 8 9 10 11 12 13 14 15 16 17
.

The'numbers describing A, B, C, D, are

A( B( , C( D(

The numbers describing P, Q, S, are

P( , Q( , ,13(' , S(

Draw rectangle PQRS.
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Tripling*Sides of Rectangles

L ok at the facing page.

A and PQRS are similar rectangles.

Write themquation used to find the perimeter of ABCD.
iug

The perimeter of ABCD is units.

Wilte the equation used to find the perTheter of PQRS.

The perimeter of PQRS is units...
t

The perimeter of. PQRS is times the perimeter of ABCD.

Extend AB and CD to meet SP and CTRI

Extend AD and BC to meet RS and PQ..

These lines divide region PQRS into smaller regions.

Each region congruent to ABCD.

The area of region PQRS is times the area of region ABCD.
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Doubling-Sicies of Regions

3.

17

16.

15

14

13

12

11

10

9

8

7

6

5

4

3

2

I

D C

-

1
B

0

3. 4 5 9 10
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-.Doubling Sides of Rectangles.

ABCDEF is a simple closed curve. 7

It is the edge of a region called R.

The perimeter of ABCDEF is units.

The area of R is square units.

Double the numbers describing points A, .B, C, D,

Label the new points P Q, R, S, T, U.

PQRSTU is the edge of a region called S.

The perimeter of g!...-d)RSTU is units.

The area ofiS is square units. r,

The perimeter of PQRSTU is times as long

the perimeter of ABCDEF.

The area of S is Rtimes as la ge as the area of ix .



Doubling Sides of Rectangles

Two sides of a rectangle are 5 inehis and 7 irkhes.

The area is

The area of,a rectangle is 48 square inches. 'One of the'sides is

6 inches long. Write amequation for the number n . of ` inches,,

in the other Ode.

The length of the other :side is

The area of a rectangle is 36 -square inches. One of the sidei

is -6 pinches. Write an equation for the number- n. of inches

in the other side.

The length of the other side is

This rectangle is a

The area of a square is 25 square feet. Write an equation for

the number In of feet in each side.

V.

The length of each side is
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Congruence and Area

L -Look at the facing page.

See the simple closed curve ACDEFG.

This is the edge of a region.

The area of this region is 'square units.

Find the point whose coordinates are (7, 8). Mark it H. Draw TIE;
7

The area of region,, ACDH is square-units.

The area of region HEFG is square units.

Is region ACDEFG the union of region° ACDH and region HEFG?

o

Find the point whose coordinates are 19, 5). Mark it B. Draw BE.

The area of region ACDH is square units.

Theiarea of region ABFG is square units.

Is region ACDEFG the union of region. ACDH and region ABFG?

Is the,pumber of square units in ACDEFG the swm of the numbers

ACDH and ABFG?

What/is the area of the region ABEF\r?--, square units.e
'Subtract this number from the sum of the numbers for the areas of

ACDH and ABFH. The difference is,

How does this number compare with the number for the area of the

region ACDEFG?
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Congruence and Area

1,
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Ccingruence and Area

2. Lsek.at the facing page.

Find point D(13,

Draw CD and BD.

ABDC is a

The area of region ABDC is, square units.

Is L ABC congruent to 0 DEC?

Do regions ABC and DEC have the same area?

sr'

Why?

Does the number of sqUareunits in region ABDC equal the sum of

the numbers for ABC and DEC? Why?

The number of sqlare units in region ABDC is twice the number

for region ABC. Why?'

The area of region ABC is square units.

This number is , of that for the area of the rectangle ABDC.
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Congruence and Area

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

'1

0

0 1

allimmallommomm.11111iiirrobirromimerrwrift,

3 4 6 7

1
9 10 11 12 13 14 15 16 17

1. 6



Congruence and -Area

3. Look at the facing.page.

ACDF is a quadrilateral.

It is the edge of a region.

We shall find the area of region ACDF.

The area of region A BEF is the' same as the area of: region CPQD.

Why?

The area of region ACDF is the same as the area of region BPQE.

Why?
1

The area of region BPQE is square units.

Why?

The area of region 'ACDF is

356
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Congruence and Area
w
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SUPPLEMENTARY

Further Work with Areas

You know what is meant by congruent figures. Below are some pairs,

of congruent simple closed curves.

A simple closed curve is The boundary Of a region.

If two-simple closed curves are congruent, are their regions

congruent?

Does the picture show pairs of congruent regions?
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We know that congruent regions have equal areas.

If .a tracing of one region can be made to fit entirely inside another

region, then the first figure has a smaller area tt476 the second. For

example, the rectangular region below has a s aller area than the

triangular one because a tracing of the rectan le can be made to fit

inside the triangle as shown by the dashed line.

ri

J

3. Exactly two regions congruent to A will fit into region B

A

Then'region B has exactly twice the area of region A .

-359
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4.

4

Show by tracing and fitting that region S . has exactly twice the

area of region R

5. Show by tracing and fitting that region E below has eiactly twice

the area of region F

'fitting.

Draw a dashed line to show tow you did the

360
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6. Look at regions G and H below. It is possible to fit two regions

congruent to G inside H so that there is space left over. This shows

that triangle ,H has more than twice the area of triangle G Show

by dashed lines how to do the fitting.

Use tracing paper to show how the left-hand region in each pair

below can be made to fit inside the right-hand figure.
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In each example, fitas many regions congruent to region A inside

B as you can. Complete the sentences that tell -about the areas.

The area of is exactly times the area of A

The area of A is exactly times the area of B .
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The area of B is exactly times the area of. A .

The area of B is more than times the area of A .
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6.

The area of is more than

I

times the area of A

The area of B is more than times the area of A
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Look at these two square regions.

We can fit one square region congruent to -R
o

inside S with
some space left over but we cahnot fit two' regiohs congruent to
R inside S without overlapping.' The fact IS, however, that

the area of S is exactly 2 times ilk area of square R . Can
you think how we could know this? -Here is a simple way to show it..

R
/

\
Ke

/

The area of R is exactly times the area of T, The
ai'ea of ,S is exactly times the area of T . Four
things are twice as many as two things. TherefOre, the area of S
is twicefe area of square R
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How can you.show that this square and this triangle have the same area?

Answer:

Here is a square region whose sides are one inch long.

W6 say that the area of this region is one square inch.
4

The-area of this rectangular region is two square inches.

3



The area of this region is

\c.

square inches.

To finish this section let's try to find out something about the area of

circular regions. Below is a circle. The point in the middle -is called the

center of the circle. Next to the circle is a line segment. Make a tracing

ofthe line segment and put one end of our tracing on the center of the

c ircie. Where does the other end o he gment lie?

The length of the segment is called the radius.Of the circle.
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The radius of this circle is exactly one inch.

What can we find out about the area of the region enclosed by thecircle?

To begin with, we can put our circle inside a square whose sides are two

inches long.

The area of the square iregion is square inches.

The area of the circular' region is less than square inches.

368
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Now we can put another square inside the circle.
VOL

Can you find the area of the inside square re,giQn?

Hint: Divide.the region into four triangular regions.

Does this remind you of something you did before?

The area of the circular region is.more than square inches.

We have seen that the area of the circular regi9n whose radius is one

inch, is more than

square inches.

square inches, but less than

Later on you will learn that the area of this region is just a little more

than 3 square inches.
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Line Segments

Here are three line segments. Draw a triangle with sides

congruent to these segments.

Here are four line segments. Draw a quadrilateral with sides

congruent to these segments, and draw it so that it will fit

inside the triangle you just drew.

4

3. I have two triangles A and B. Every side of A is longer than

every side of B, and yet I cannot lit triangle ".B inside

triangle Al How is this possible? Can you show by a drawing,t.

370
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Line Segments and Sums

Here.are,four points:

r

Join every pair of points with a line, segment.

How many segments did you draw?

Find the sum: 2 + + 0

2. Here are five poi

Join every pair of points by a line segment.

How many segments did you draw?

Find the sum: 4 .+ 3. + 20 + 1 +
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Here are six points:

10°.

Again,join every pair of points by a line seginent.

How many segments this time?

Find the sum: 5 + 4 + 3 +

Was the sum the same as the numbet6t. n%-::every,tsime?

If not, go back and check y ur work:'



Now try it for three points. Figure out what numbers you should add.

Number of segments: .

+ +

Does it work.?

For one point?-

Does it work for two points?

Now add a fourth point to the three you
have up above. How many new segment$ can you draw?

What new number should you add to the sum? .

Now think about what you have done and try to explain why the sum should
always be the same as the number of segments,

hing figure out how many line segments it

airs in a set of fen-pints:

If you r

is very easy.

+ +

t'l-lese numbers in the right way the addition

-. 373
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Routes

I am staying in Hochdorf, a village high in the Alps. .I would like to

take a trip starting and ending at Hochdorf and passing over every

road exactly once. Trace out a route for me.

Stein

1. We call a route which starts and ends at the same point and passes over

every road exactly once-an Euler route after the famous Swiss

mathematician Leonhard Euler (pronounced "Oiler") who first worked

problems of this kind. Find an Euler route starting and ending at

Stein. If there is an Euler route starting and ending at one point is

.there necessarily anlulier route starting and ending at eve ,other

point? Why?

374



2. Trifle) find an Euler route for each of the maps below. Start at any

point you like, but be sure to end at the same point. Put a big

-X on each map which has no Euler route.

Can you thinkor any simple rule to tell you when a map will have an

Euler route and when it will not? Look back at the maps above.

375
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3. Now look at these maps. Mark with X those maps which have no

Eu Iv route.

0

What do you notice?

It

Anything about even and odd... ?

If you look carefully you can tell right away that each of these maps

has no Euler route. Explain how on the line under each map.

z. \

376

147



4, Now can you think of a simp rule to tell you when a map has no

Euler route?

Try your rule on these:
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Multiplying With Ten

Use the array above to help you fill the blanks.

Is there an easy way when 10 is One of the numbers?

2x 10 =

4x 10 =

10 x 1 =

10 x 3 =

5 x 10 =

10 x 5 =

8'x 10 =

9x 10 =

10x 7=

4x =40`

10x =50

3x. =30

2x
Q

=20

7 = 70

x 1 = 10

8 x = 80

10 x



A Multiplidation Table

Can you make a multiplication chart to include 10? Try it.

0 1 6 10

O

sr'



Multiplying with 10 and 100
ri

Fill the blanks:

45 x 10 =

10 x 35

72 x

12 x 10=

'7 x

9 x 19=
,

10x50

10 x 39 =

4x100=

6X100-

..rx100=

6x 0
10. x 84 =

3x 10'=

24x 10=

18 x 10=

37 x 10 =

17 x 10

10 ;c 72 =

100 x -7 =

5 x100L.

100 x 35

27 x 10 =

64 x ,10=

10 x 53 =

10 x 47

68 x 10 =.

6x10=

8x 10 f-

lO x 11

20 x100 =

17 ).(100=

100 x 82 =

21 x 10 '=

4s-
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gultsplyjng with- Tenlnd Miundred
-

r 0 = 44k

sy

'R

0 = 34( .

70 = x 10

x 10 .720 = x 10

2700 = 27 x

3900 = 39x

tir

**,

.0000

41.

620 = x 104,

840 = x 10

2. 1500 = x 100

50 = 5 x *

120 = x 10

360= ,* 36-

450 = 45 x

4500 =
)

1.
381
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Using Multiplication.

Picture A

Look at Picture A.

.
Picture B

How many cards of buttons do you see?

How many bUttons are on each card?

Look at Picture

The cards of-buttons have been put together.

What multiplication equation tells you how many buttons there are?

82



Using Multiplication

Draw a line to the equation that is related to each problem.

Tom had .5 coins on each card.'

He has 7 cards of coins.

How many coins did he have?

Mary had 3 boxes of pencils.

There were 6 pencils in each box.

How many pencils did she have?

Karencan put 4 flowers in eadivase.

All logether she had 28 floviers. .

How manly vases does' she2 need?

Tom wantsoto give each of his friends
5 marbles.

He needs 35 marbles.

How many friends will get marbles?

Bill went on a 7 day vacation.

He caught the same number of fish
each day.

That week he caught 42 fish.

How many fish did he catch a day?

7 x 42 = n

x = n

7x5=n

6 x 3 =

n x 7 = 42

nx5=35

n x 4 = 28

5 x35 = n

7 x(n = 42 .

4 x 28 n

5 x 7 = n

383
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Using Multiplication

Complete. Your multiplication chart should help you.

3,x 5 =

5 x 6 -
C

2 x 9 =

3x 6=

7x4 =

3 x 8 =

4 x 2 =

5 xio=

4

x 2= 10

x 4 = 20

21.

x

x 10 = 20

7 x10- x100= 100

100 x 8 = x 5 = 500

t
'100 x 6 = x 9 = .900



Learning About Division

Finish these. Show an array for each problem.

(a) 8 +

(c)

,,, 12=
`L"

(e) 32 + 8

385
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Division.

Finish these. Show an array for each problem.



Division

Use arrays to help you if you need them.

10 +5=

12+ 3

16+ 4

12+ 4 =

27+ 3 =

16+.8 =

54+ 6 =

32+ 4 =

21+ 3 =

28+ 4 =

36+ 4 =-

49+ =

12+ 6 = 48+

ti

387

81+ 9

42+ 6
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Learning to Divide

Bill had 24 tickets.

He put them in sets of 4.

How many sets of tickets did he have?

Finish this array to show howBill could have separated the tickets.

How many sets of 4 would he have?

Now can you find the number of sets without the tickets?
N

24 4

4) 24
16 . 4

8

4 sets of tickets/will take 16 tickets.

There are 8 'tickets left.

How many sets can he,make now?

How many sets of tickets has he in all?

Are there any tickets left over?
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Division

Complete: Use symbols or pictures. The first has been done for you
using bath.

35+ 7 =

O 0 0 0 o o o
O o o o o o oo o Oo oo o
O o o o o a 'o,
O 0 0 oo o o

35+ 7 = 5
7) 35

21

14

14 35+ = 5

42
2. 6- =

32

8 54+ 9 =

ti
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27

3
10. 48+ 8 =

11. 63

7

12.. 49+ 7 =

391



r. =

Multiplying by a number will yndo dividing by the-same number.

Think af 8.

Divide 8 by 2.

Then multiply 4 by

The result is 8,, the original number.

Multiplying by 2-, undid, dividing by 2.

B. Dividing by a number will undo multiplying by the same nUmber.

Think of -8.

MUltiply by 16

Then divide 16, bT. 16 -:- 2 = 8

the result is 8, the origirial number.

392
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.0

Fill the blanks to Show doing ancl.undo.ing.s..

The first example is donefor you.

D0. UN400

6

4 x 5 = 20

6 x 4 =

3 x 7

10 x 4 =

7 x 8 =

3

18

i4



t.

Multiplication Equations

Think of 4:5+ n 9 as n x 9 = 45:

- Write the multi lication equation.

The first one has.

44

tr

21+ n
.:n x 7= 21-

n 3

2.8 n.,z .4



,

Division Equ ions

.**ThiniCbf n x = 454 as 4k1/4-7, 5 ='- 9
.4.1! . .

Write the divisi n equation.

The first one.h teen done for yo

y

x

n x 8 = 48
111

n x, 81

-4;

4;



Multiplying Three NuMbers

Here is a picture of a set of blocks,
arranged if) 2 rows of 3 blocks.
How many blocks are used?

2 x 3.=
:."

Here is a picture of a set of blocks
arranged in 2 rows of 3 blocks
and 2 layers. How many blocks
were used in one layer?

2 x 3

How many blocks were used in
2 layers?

n = (2 x x

= 6 x2

Here a picture of a set of block
4

K
with rows and

blocks in each row. There are 9

blocks in the picture.
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Here is a picture of a set of blq4s
with 3 rows of 3 blocks and 3
layers. How many blocks were used?

n 3,x 3 x 3

x 3) x 3

9 x3

Here is a picture of .a set of blocks
with rows and blocks
in each row. The equation that tells
us the number of blocks'is:

There are layers of blocks.
In each layer there are 2' rows of

. blocks. In the picture there
are block's.

What would-you find for the -'product
it you write:

(2 x 2) =

Are yourproducts the same?



Multiplication

Example: 4 = (2 x 3) x 4

= 6 x4
= 24

OR

x 4 = 2 x (3x4)

= 2 x 12

=24

First multiply the factors
in parentheses '( 41.

f$ *

Did you get the same product?

Why?,

Find these products:

3 x. 3 x 2

3 x 3. x 2 = (3 x '3) x 2 k"

x 2

2 x 4 x 5

2 x 4sx 5 (2 x 4) x 5

398
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= 3 x

x 5 2 x (4 5)
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Find the product of 4, 2, and 3 in two ways.

4 x 2 x 3 = (4 x 2) x 3 4 x 2
x 3

Find the product of 2, 4, and 5 in two ways.'

2 x 4 x 5.= (2 x 4) x 5 2x21x
x 5

Find the product of 5, 2, and 3 in two ways.

5 x x 3 = ( x ) x 5 x 2

6. _Find the prOduct of 2, 5, and 4 in two wayS.

2 x 5 )e



ultiplying with Multiples of 10



A Chart

Directions: Fill in the chart with the products for the numbers in

the rows and the columns.

Example: 8 x 30 = 240

You may think about 8 x. 30. = 8 x (3 x 10)

x 3) x 10

24 x 10

= 240

x 10 20 30 60 70 40

2 4.

401.



USing the Associative Property. for Multiplication

Multiply:.

1) x 20 = 3 x (2x 10)

= (32) x 10

6 x 10

60

2) 5 x 70 =

x

3) 4 x 20 =

5) 5x90=

402

1 73



7) 70 x 3 = 10 x 7,x 3

= 10 x (7 x 3).

= 10 x 21

410

9) 60x4=

11) 600 x 3 = (100..x x 3

= 100 x (6 x 3)

= 100 x

13) 400 x8 = 14) 300 x.6 =

174



Multiples of Ten.

-70.

70 + 10 .=

140

60-+

120

60 = 10

20

e.

.60 -r

10

.40 10. =

80
8

80
10

160

8

50
5

100

5

60

20
10

30
-10

40

150

10

100

10

"7-

40 -7- 10

80

90 9

180

90

30'
3.

130_ 10 =

12.0.= 10

160

10

140 ÷. 10 =

190. =1

404- -

Z5



The Distributive Property

To find the product for 4 x 17 = n, think of a 4 by01 17 array.

17

.
....

... 1.- ..
.

1

' ..
5

Then think about separating this array into two smaller arrays.

10
1 "

,: .

f ::- i.

: lo.-.1-

. ° ' : .

Find the number of members in each array.

Then add these numbers to find the num,l)er of members in the
Ot-



The number of members'in a 9 by 16 array i5 94( 10

The number of members in .a 9 by 5. array is

The number of members in a 9*by 15 array is

ii

11 1111111111M11111111111 111E 13101111111ME11 11111NII111 11111111911111111Mill
111111M111111111





Multiplication

Try these. Use arrays Aci, help you if you need them.

x4

3. .18
x3

-17:
x6

.19 -,
x5

13

x9



Solving Problems

life your own paper. Write the number of the problem.

Write the equations and the sentence that tells the answer.

At the Candy,Store

. Judy bought 6 'chocolate bars. Each bar cost 60

ind how r\uch Judy's candybars cost.

Sue broallt 2 friends with her. She bought 3. -bars of baking

ch)colate for Mother. Each bar cost 180. How much did Mother's

baking.c,hocolate cost?

Bob spent 250).for ice cream pars. Each bar cost 50. How

many ice cr'earri bars did he buy?

Ellen bo g h t 6. lemcin drops and 8 orange drops..

How manyiorang d lemon drop did Ellen buy? a.

Jane spent 470 for gum and stick candy. She bought 5 'packages

of gum at 50 'a package and spent,thoe rest for candy at820. a stick

How many sticks of candy did Jane buy? -

409,

180

1



Solving Problems

Use your own paper. Write the number of the problem.

Write the equations and the sentence that tells the 'answer.

1. Billy had 450. He Wanted to buy.as many .50 stamps is he could.

. How many 50 stamps could he buy?

2. Jeff went in ithefause to get cookies for his 2 friends and himself.

He thoLighOle-had 9 cookies but,when he got outside and counted
\

them he had 10 cookies: How many cookies should he give to each

person?

the:3: Kelly had 56 new tamps to paste in his stamp book. ach row in

book haS 8 'stamps. How many rows of stamps can he aste,in the

bobk?

Mother bought 4 pencils t each Ann wanted pencils but' he

didn't like t1 e ones Mothe bought so she bought 4 of a different

kind. H much dig Ann' p\encils.cost?

FatherAave Brad 8 golf balls. Two of them hag red marks:and the

rest were mark ith green marks. Mother said, "I have 3 'golf balls

:colarked with gr= ^ You may have them tb with your green ones."

How many. golf 5 marked with green: does'Brad hai/e?



Solving Problems

Use your. own paper. Write the number of the problem..

Write the equations and the sentence that tells the answer.-

John had 50a. He bought 3 rolls at la for each roll. HolAr

much, money did he have then'?

Mary bought five 50 stamps and six 0 stamps. How much aid

Mary pay for the stamps?

yl

3. John decided to save nickels. One dayltie counted h collegtion and

found that he' had -9 nickels. How many cents did JOhn have in MI? 16,:,

4. Susan spent 120 for doll dresses vd 54 for Boll shaes. Frow41p.kch: 4
change would Susan get if sheave the clerk a qu'artet?tto pay for the

dal things? 4 4,
P

5'. Molly bo4pIght a story book or .15a, a pencil for 50,! writing paper for
c

10a, a doll hat for 100.; and art eraser foc,30,. How much did Molly

6. .

Spend for writing' materials?

David bop ght 4 kites. Each kite cost exactly the same as the other

kites. if David s Oa for the kites, how much did each kite
cost?

411

fi



Solving Oroblems 0

Use your own paper: Write the number of the problem.

Write the equations and the sentence that tells the answer.

tt, .
When Mother cleaned house she washed all of her good disheS.

.She had 3 sets of 'dishes and each set had 48 pieces.

How manitlishes did Mother wash?

.0

Father-and Bill helped. wash the dishes. It usu

minutes. Father helped Mother fOr 20 minutes.

Bill work alone with Mother?

,_
Mother's cupboards were small so slA had to put the-, . :,,!)

dishes in 4 cupboafa. If sheinft the same niimber;ofklYS As'
" "C . ;

each cupboard, how`many dishes did MotherfPUi in each cipbijaTd?::

;
Mother also washed the windows.41 her;E4ere 4 panes of glass

each of the 14 windows Mother washed. ow manYpaneS.,...of46lags
46

did she wash? ,.

It took 10 'minutes _to was

wash the 14, windows?

.;-
,window; How long did intake to

412

*8.c



Solving Problems

USf Your own papers' Write the number of the problem.

Write the equation arid the sentence tliat tells tfie answer.

Mother Made 8,'Rprons., She gave 4- aprons away.After-'.-

, stieinade.impre--prorts She had:..7 apronS. Find 'how many. more
..

Mother
.

ti

.,iirprs team r.r4de cpoinio in each inning of the game. Find' flow

inanif_pointtliery inadeinr'.611rinings!:'
='- 44.

lack had 12, pieces of candy tcigiVe to :.4. children: 'Titvo,of the

'children ilieresgirls. 'If he gave the'Same.n umber of '-pieceito

eadgchild;%lcoW many pieces did each Child get?

.

Sally 7 stuffed toys. Only 3 .of theloyS.Were

day Sally got stuffed ,toys :1-wo'of them were stuffed

ndtfhe rest were Stuffed animals: Then .how -Many:stuffed,

anima Sally.have?..

Three children-he.birthclayS:: One take. had .6 candles and anotrittp

cake ad 5 candles.: Altogether/there were 17 candles: Find hOw many--
caridl wer5 on tlie3hiid" birthday cake.

413 e* '



SolVing:Proble 44/,.!

se yatr own he number of*.problem..

Write the equatiOhs-...,!glid the'sentenie'ttiat tells the answer."

.irm..10"
1

her birthday party. .She wanted to giver:

,11015n5: (-low many balloons did she buy?)
fries Jean wanted to give each of the girls 8

want' toothpicks did Jean need?

eanr.s.).m r 'made party'favors.for all of the girls including Jean.

Irileeded 4 sticks of yi.ni; and 3 gumdrops-for each favor.

owpany sticks of gum she had to .buy.

Wheli J-0,n opened her gifts 'shelound 2 books and 3 boxes of
..,,,,,.:.. ,
tati dy7V box of candy had 18 pieces: How many pieces of

c4ndy were in all of the boxes together?

,

, Mother set 3,-tables'with 5 places at each table. Were.there,,.

°4 i 2
,.

1 enough places for all of the Is and Mother'to be seated?

0 . --......._., --ipt-
,

6. If Mother used 5 dishes at each place on the tables, how ,manyr . ,

dishes did she need for all of the,places?

414*

a

0 %.



Solving Priplemi

Use your own paper. Write the number of the problem.

Write,theequations and the sentence .that tells the answer.

MOther bought a large bag of jacks for Beth, Susan and Peggy.

On the bag the girls could read, "60 Jacks." Mother gave all

of the jacks to the girls. If each girl got the same number of jacks,

how Many jacks will each girl get?

Mary helped Mother by,setting the table for 3 meals every day.
if

How many times did she set.the table in a week?

Jack bought T. packages of bulbs for h is garden; On the outside of

3 packages-he read "12 Bull*" On 4. of the packages read

Bulbs:". How many bulbs did Jack buy?-

Zg
4. Mottner gave Beth 5 new hair bows and 7, pairs of socks...

Grandmother gave Beth six-hair bows.-and another pair of socks..

How many hair_bows does Beth have now?

. . 1 V 4
Grandmother had 36 prunes in a bowl. She said to Susar, 'Please6

.

put all of these into 4 dishes. Beiure to put the ame'n of
prunes in each dish)." How many prunes did Susan pLitln ead+) dish?

r .4

.415



Solving Probletris

Use your own paper. Write the number of the problem.

Write the equations and the sentence that tells the .answer.

Miss Jones brought 3 bout of chalk and ,7 boxes of pencils from

s

the office. Each box held 12. pencils. How many pencils did Miss

.lonestriA from the office?

Miss Briggs` needed chair's for 56 children in the auditorium. Mr.

1,?-eterson set up 5 rows of chairs' with 12 chairs in'each row,' HOW
./.

many empty hairs will theresber

Mists Stone's class was gOing.fpn a field trip'. The children rode in'

4 station wagons. Eight children rode in each, wagon. Find how
. ,

many children went'on the field trip.

q0

Mrs. Smith asked John to get enough pencils so that each.of ttite- 23

children woLlid have 4 pencils. Find how many pencils -John must

get.

., Miss Kent brought fruit dripk.for the party. If she could pour 5

glasses hilt frorh eacti bottle, how many glasses could she fill ftfom.

7 bottles? -

',There are 5 classrooms on the first floor of'Humbert School and

classroogis on the second floor. How manY:children are in,the

classrooMs on the second floor if each classroorn,has 31 children in it?

.416

1 "8 7



* Factors and Clock Wheels

Write these numbers as products'of 'prime numbers. The first two

are done for you.

6 2.x 3

18= 2x 3x 3

10.=

14

9

7=

50,=

100 =

We say that 10 and 14 gave the common factor 2 silice 2 is a.
factor:of both 10 and 14. What common factor do 6 and 9 have?.

(Since 1 is always a common factor, there no need

to mention it.) Look up
.

above at'the faGtors of 18 and 30. What
0

common, factorsAo 18 and. 30 have? ,The,greatest

cammonlactOr of, 18 and 30 is .2 x 3 or 6.

Find theg.reatest common factor of each pa'ir of numbers:

14 --: 2 x'71 ,
Greatest common factor: ° .7

21 = 3 x 7

x 7

.20 = 2 k x5

12 = 21c 2 31.

g = 3 x

Greatest common factor:

Greatest common factor:

Greatest commonfactor:

O



reatest common factor:

4. Find the greatest common factor of each pair of numbers:

='

21=
Greatest common factor:

Greatest common factor:

Greatest common factor: 2 X =4

Greatest common factor:,

Greatest common factor:

Griatest common factor:

treatest common factor:

Greatest common factor:

Greatest, common factor:



Here is a pair of wheels from an old Clock. Imagine them
turning, Olit line with a black crayon all the notches o6,
wheel B which are touched by the black peg.

-

4

In the picture below, tba big wheel has 9 notches instead of 12.
Again, outline in black the notches touched by the black peg.-

Can you explain why the black peg ti ed only 3 'notches-in the . .

first case,, but touched all in e second case. e,examples
on the neStpage

4;

07



Fill in the-number of notches and the number of pegs. Then outline
in,black the notches touched by the black peg-as the wheels turn.'

notches

notches. pegs, nottbes,

Now look at what you have done.. Can yOu think of a rule to tell you
.

When the black.'peg will touch.all the :notches'and when it won't ?.

(Think abouf common factors.)



Now try'sorne :witfiout.pictitres.i Mark with X thoSe examples in
filch the blackpeg would touch all the -notches.

3 pegs; -5 notches

6 pegs, ,12 notches

7 pegs, 11 notches

. 6 ypegs, 14 notches

9 . pegs,' 24 notcheS

5 pegs- 16 notches

In this pictu're color the pegs. and notches in- stich a way that no
peg of One color ever.toudhes,,,a notch of another color. Use

, as nanY different cpiorS as'you can;.:;. ',..
,

.., , .. .....
. .

Number Of pegs:..

Num)er, Of)rtCh es: 0.

Greatest common factor of these riumbers:

Numberof different colO'rs: .,
Now color all the wheels:on the pages you did befor in the same

.way that you colored these.



d4fle. - .

Suppo'se wheel "A has 28.pegs:OhichlOtleis- brick, .and wheel

B has 100 notches. How many mitches does the, black peg touch as

the wheels)urn? What is t greatest number of different

colors you could use to color th's p s and otcheS so that no-'peg

ever touches a notch of a different colt/ How manyegs

---would you have of each color.? HoW many notches .would

you have of each color? Don't try to draw a picture; .just

work with the numbers.

9

422 .

193
.3

r.



Rational Numbers

Ring the fractionihal tells what part 's shaded.
/

.4,
2

4

1

7 4

4

1

a

5
4

5

5

5

423 .

..........q.::::::::.

:::::::::. .

o

it-

a

s.1

a



Rational Numbers
4

Ring the fraction, that; what part is shaded.
K.
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,

Rational Numbers and Sets of Objects

Name the rational number,suggested by shaded objects in each set,

1 limmammomil

p

.111.111, t

ti

...mamma

I



Rational Numbers andSets of Objects

Complete the sentence.s.)

4



Rational Numbers
.

Complete:

* 00'0000
O 00.
O 00*
O 0000 _

O 0000600
O 000

10=

1
of 10 =

1
3 of 10 =.

3- of 10 =

5
of 10

9
of 36 =

5
of 36 =

9

7
9 of 36 =

428

199



Rational Numbers

Complete:

WO

40

1 of 40_
8

3
of 40 =

x5

6

8
of 40 =

88 of 40



lone1 Numbers

Complete:

WO
, II .911
II* We

00

to

x6
1

01 54 is

1
.6. of 54 ls

6
6- of 54 is0,00 9 of 54 is

41

ION

'% Oeolo,,,, a of 64 is411.400000
of 64 is

0.41,00000
000.0000 4

iof 64 s.

-ofof 64 is

8
7-3 of 64 is
0

430.



Rational Numbers and Sets of Objects

.Complite:



Rational Numbers -= Review

* Fir each figure, write a fraction which names the rational number
suggested by the shaded part of the picture.

0 0
0 0
0 O.
00

.

q.

D
DODO

432



Rational Numbers -and Sets of Objects,

Complete:

qboo
0 El El E]
0 0 0 0 0 0

, 6 is of

3 is of

9 is of

S

0
0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0

*

4 is of

. 6 is . of

.12 is of

()0000.000:
00000000

0C)000Q
3 of

4 is of

21 is of

.. 1

x x

>c,x )0_< x x ><

X, X X X X, X )Z

7 is of
e

4 is of

14 is of

28 is of



1,

Rational NuMbers Diicribe Points On Number Line
.

Label each pqint marked, using a rational. number.

B.

0

.

t.,

hes

1

>1.

0

0

434
9 , ,

"s



Rational Numbers Describe Points.On Number Line.

Libel each point markeIV using-a rational number.

O

4
41IC -0

D.
0

O 1 1 1

3 2

435-;

)1 .

5
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Oder Among Rational Numbers,
2 4

- Name the-rational number stigge4ted by each shaded region.

Thin. complete the sentence.

434W

-... 7

r
t



Order Amon) Rational NuMbers
,

..

Name the rational number suggested by each shaded region.

Ttien omplete the4entenee.

0

. 437



Order(Miqng Rational Numbers

Label each point. using.a rlationar nu ttgr arne:

/*\ Then coinpiete each sentence uting or

438

209



Order Among Rational NUM,bers

Label each point.usjpg a rational number itame..

Then co plete each sentence using or,

4t-r.
4 2 8

.439

V



ttsing',ArraystoShow

The firs{ exercise has been doMforyou:

C D

15+ 3 =

-

\

2i
.3

0

16+ 8 =



loivinglciiiations .,---- N

The firs 'One has been do e for you.
. .4



Two WaMf Writing a Division Example.,

Thei. rst example each colu nn ha v b e n On,'e r you.

.
35 18

3 5 i r r 7 -,-T T. 18+ 2,, -.9

(:.
27

.45+ 5

72 +8 a a

63+ 9a

24+ 6 a

5'6+ 7

a

a

a.

1 4.

36 2;

4

4



j...y.'Shares .

Show your partition. 4ork the example.

The first one has been done for you

1.

0.600000
00000,00

if 13

5 of 21

1
of 19

of 22

a of 25

of 28

443

2 4



Fractions

Divide the region into congrqiit parts. Shade the part that

represents ttVraction. "
r



Finding thp Number. That Names Part of a Set

Work each example., Make an array to show that your answer is t orrect.
The fir on has been done for6you.

11.3 of% 24

1
3 of. 24 -.-

2 x 8 = 16

Of 24 16

A

...2) 3
0

5
5

3)
§. of 36.

lbw

5) 3
-4 of 16

a

4) 5
7 of 21

6) 58 of 24

445-

"4

'1



9) 5 of 18
6

a

a

10) $g of 16

f

1D Use the symbols >, < or = to make these true statements.

4
3

12
2

12
3

of 12
6

2
of 45.

5
2

of 30 .

3 4

8
of of 42

f 18. . 5 6of 63 pail -7 of 49

5
6 of .24

3 of 14 11 of 21



Using the Number Line

Use the hatter line to show that youynswer is correct ,

The first one has been done for you..
.4,.

2 =

i of 1- ,
9

0

t .J14

5 of 3

.5

4 1

. r

z°

a 3
. 'I'

7of V=

2
: of =

1
a- of 3 =

3
a- of 1

I

17 of 2

of 1 -

.

0

4
0
l -

4 1

2,:.
.

4
O

1 1,

J

a
447-

z



Finding Quotients

The first example has been done for you.
'I

2) 17

4) 21

a

o



Finding Quotients.

Thefirst example has been done for you.

J

45+ 7 = 38+ 9e

29+ .43+ 8 =

449



Finding Quotients

The first exaple has been worked for you.

k



Solving Problems

Write the equation that will help you solve the problem.

Write-the sentence that tells the solution to the problem.

L The 21 Children on the playground decided,to play a teat game.

It took 6 children for each team. How many teams could they make

with the 21 children?

Judy and 3 of her friends were playing house in the back yard. Judy's

ramtherbrought a plate of cookies for the girls to at. Judy wanted

h girl to have the same numbet of cookies. There were 10 tookies

on the plate. How many cookies did each girl get?

Mrs: Whitelpd '23 tulip bulbs to plant. She planted the same number

of bulbs each of three rows. How many bulbs did she plant in each

row?

451

222
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